run_13096004 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13096004 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Thu Apr 5 01:54:06 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
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run_13096004 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13096004 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Thu Apr 501:54:07 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
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run_13096004 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Thu Apr 501:51:52 2012
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run_13096004 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Thu Apr 501:54:08 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Thu Apr 501:54:42 2012
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run_13096004 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Thu Apr 501:51:56 2012
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run_13096004 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Thu Apr 501:54:09 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Thu Apr 501:54:43 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Thu Apr 501:52:01 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

ADC-ped

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=1 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=LARM=1APV=2 }

ADC-ped

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=3 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=4 }

1000

2000 3000 40(

raw ADC

[ADC for FGT RDO=1ARM=L,APV=0_}

= 4000 p—
] =
& =

Q 3500 f— - -
< =

3000 f=— - -
=

2500 f=— - -
=

2000 fm—— - -
=

1500 f=—— - -

1000 p=— - -
=
=

500 p=— - -
=
=

==

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=1 }
= 4000 p—
] = . . . . . .
5 =
8 3500 fm——- -
< =
3000 f=—— - -
2500 fm— - -
2000 f/— - -
=
1500 f=— - -
=
1000 f=— - -
=
500 f—
=
=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=2 }

= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 F=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=—
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 40 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=1,APV=3 }
= 4000 p—
] = . .
& =
Q 3500 f=— sebe TR
< =
3000 f=— CES EEN Y EEEE RS
2500 = [ R R
2000 fm— aajaadpogeaniials
=
1500 f=— St EEEE
1000 P=— - v - b e e e PR TR S EREE T
= 8
= 8
EE) | ==-ooccosheosocag gfeokeadpeqeasiole
= 8
Of— e SRR RS B e
= 8
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. A s d Ll

10

10

10

10

10




run_13096004 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Thu Apr 501:54:10 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Thu Apr 501:54:44 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13096004 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Thu Apr 501:54:46 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13096004 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB
Thu Apr 501:52:07 2012

[[_ADC for FGT RDO=1ARM=1APV=12__} [ ADC for FGT RDO=1,ARM=1,APV=12 |

= 4000 p—
5] =
& =
Q 3500 fm—
< =
3000 f=— 10
=
2500 f=—
=
2000 f=——
=
1500 f=—— 1
1000 f=——
=
500 fm——
=
=
== 10"
=
0 1000 2000 3000 4000 0
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=1.APV=13 | [ ADC for FGT RDO=1,ARM=1,APV=13 "}
- 4000 p—
g = H o o o o
é O R R R B R R R R R AL EE R EEREEEEE SRR
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80000095005095905508H0950050595965505903500509556550990354(030950
B S T B R Y R R PP PP PPPRPPP PP 10
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
Ll e R e B e T CE 1
=
500 f=—|- - - EERREE
=
e e B B e
=L . . i . . . i . . . i . . . i . . i . . . . 10
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1LARM=LAPV=14 | [ ADC for FGT RDO=1,ARM=1,APV=14 }
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=— 10
=
2500 =
=
2000 f=——
=
1500 f=—— 1)
1000 fP=——
=
500 f=—
= 1
= 10°
= i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=1,APV=15 | [ ADC for FGT RDO=1,ARM=1,APV=15 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< = 10
3000 f=—
2500 =
2000 f=—
=
= 1
1500 f=——
1000 f=——
=
500 f[=—
= 107
==
=
=
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1.ARM=1.APV=16 | [ ADC for FGT RDO=1,ARM=1,APV=16 }
.- 4000 p—
5] = . . . . . .
o =
9 3500 = ofs-r e s .-
2 =
3000 = - rrn s .- 10
2500 = - - - cmn e e as
=
2000 fpm— - e s e m e m s -
=
1500 f=— - === s - e - .- 1
=
1000 = v ols - s m e m e n .-
=
59| == adboscasacsd ..
= 1
o [ B = 10°
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel



run_13096004 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Thu Apr 501:54:12 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13096004 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Thu Apr 501:54:46 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

RMS (ADC-ped)

100 f——

DX Q

80

60 [+

20 [

20

I_I_!_I_-I-_I'__jll =

°'1T'I'|'I' 2

i
120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

RMS (ADC-ped)

120 |-
100 _
80 [+
60
40

20 fa

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

RMS (ADC-ped)

120 |-

80 |
60 fr
40 |

20

100 p—
[—
[—

i i i i
20 20 60 80 100 120

-
0

APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

RMS (ADC-ped)

i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=16 }

RMS (ADC-ped)

APV channel




run_13096004 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB

Thu Apr 501:52:11 2012

[ ADC for FGT RDO=1,ARM=1,APV=17 |

[ 1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1.ARM=1.APV=18 |

1000 2000 3000 40(

raw ADC

ADC for FGT RDO=LARM=LAPV=19
—

1000 2000 3000

raw ADC

ADC for FGT RDO=1,ARM=1,APV=20

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=21 _§

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J

[ ADC for FGT RDO=1,ARM=1,APV=21 }

ADC-ped

4000
3500
3000
2500
2000
1500
1000
500

0

= 4000
]
e
Q 3500
<
3000
2500 10
2000
1500
1000 1
500
0
10"
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=18 }
= 4000 p—
] = . . . . . .
5 =
8 3500 fF=—
< =
3000 F=— 10
=
2500 f=——
2000 fm/——
=
=
1500 E=— 1
=
1000 f=——
=
500 f—
=
0= : i : < 10"
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=19 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
o 3500 f=—|- - - - - - - -
< = 10
3000 f=—|- -+ - - - - -
=
2500 p=p—]- - - - - - -
=
2000 = L E
= 1
1500 === - === - - e
1000 f=r—- === - - e
=
500 f=—le - - -ee s -
= . 10"
oE -t
= i i i i i i
20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
] = .
& = 8
Q 3500 f=—|- - {-"1 - [ER TR o EEEE -
< =
3000 fm—1|-4-{--t- R EEEE B R e
= 10
2500 p=——{-{-{- -t - [ER TR o EEEE BT
2000 fm—|-{-1{- -t - aaspasagpilpeacs dhocas
=
1500 f—|-{-1- -t - EEE TR B R -
= : 1
1000 P=—|- - = b b m e d b e BT
= 8
= 8
500 p=—|-q-{--f-f---e-aq--cpeeo]-qo--e- B
= i
Of— A=t e s R
= . -1
= i 10
0 20 40 60 80 100 120
APV channel

10

APV channel




run_13096004 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Thu Apr 501:54:13 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13096004 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Thu Apr 501:54:47 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

180 [+

160 =

140 p——

120

100

80

60

40

20

0

] =CEEEENIII00CEEEENE]

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

RMS (ADC-ped)

160

140

120

100

80

60

40

20

'|'I11

TR EEEFITT

°'I'I'I]11I|III[

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

RMS (ADC-ped)

180

160

140

120

100

80

60

40

20

0

R T T AT T

i
120
APV channel

[ADC RMS for RDO=1,ARM=LAPV=20 _}

RMS (ADC-ped)

200

180

160

140 £

120 =

100

80 |

60
40
20

0

—

© T TR

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

RMS (ADC-ped)

140 P

120

100 PH

80 [r

60

a0 k

=

APV channel




run_13096004 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Thu Apr 501:52:15 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }
|

|
3000
raw ADC

|
2000

[ADC for FGT RDO=1,ARM=2,APV=3 }

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

0 1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

° =
] = .
o = :
Q 3500 f=—|- </~ {-t-f---- EEEE B R £ PR R | R E T
< =
3000 P=f—|- <= {-t-f---- R L Rl EEL L EE R
=
P = o EEERER S RERER e R R e R R EL LR
= 8
2000 f=—|- <= {-t-f---- eaoi|o|i=pe=gfloge=e|f Pz iocpemzom00
= i
1500 |- <[« 4=t} == - - B R £ EER T e e R
1000 P=t—|- A= 41 -f - - - 1 EFEE B BUEEE £ EPE PR | DEEEEEE PR PR
= 8
= 8
500 |- (- 4=t f - casl|ofleh e dllbsllocadlEoccoslesbcsnnsss
= . .
= . :
()= o SRR R ST SRR B R e & e S R
= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
=
=
0

[ ADC for FGT RDO=1,ARM=2,APV=2

4000

1
120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldEIATERIAGNATGRAARNAGRAARIATENATENATENAG]

[ ADC for FGT RDO=1,ARM=2,APV=3

80 100
APV channel

- 4000 p—
5] =
oo =
Q 3500 F= -
< =
3000 = |- 1~
2500 = - 1-
2000 f=r— - 1
=
1500 f= -
1000 P=— - 4 -
=
=
500 f=— -/ {-
=
o =
=
=
0

[ ADC for FGT RDO=1,ARM=2,APV=4

80 100 120

APV channel

- 4000 p
o =
9 3500 |- - - - - - - g e B
< =
3000 |- - - - - - o e B
2500 - - - - - - gbacacdla
rm
2000 |- - - - - - l TR B
=
1500 pH—|- - - - - - - H EEEEE B
H
1000 pF—f- - - - - - e B
=
500 pF—|- - - - - - - o EEEEE B
=
()= 5 o S ke o
Bl . .
0 2

APV channel

... . . el

10°

10

10

10°

10°



run_13096004 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Thu Apr 501:54:14 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13096004 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Thu Apr 501:54:48 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

180 f—

160

RMS (ADC-ped)

140 |e

120

100

80

60

40 |

20

i i
100 120
APV channel

0

[ ADC RMS for RDO=1,ARM=2,APV=1 "}
180

160 f—=

140 |

RMS (ADC-ped)

120
100
80 |-

60

40

20

i i
9 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

200 =
=
180 f=——

=
160

RMS (ADC-ped)

140 =
120 7
100
80 [£

60 |

40
20

0

APV channel

180

160

RMS (ADC-ped)

140

120

100

80

60

40

20

SHIEEE 1II'I-I-I11H-I'I'|IiIIHII

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

= 220

3 :

g

S 200

o —

< 180

12} —

= 160

'3 —
140 f=
120

100 [£
80
60
40

20

0

APV channel




run_13096004 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Thu Apr 501:52:20 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

2000 3000

1000

4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=6 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }
|

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=8 }

.
g
Q

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=9 }

2000

3000 40(
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }
4000

3500

ADC-ped

3000
2500

2000

1500

1000

500

- -

0

© AR R R A

N
NE-.

APV channel

[ ADC for FGT RDO=1,ARM=2,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
d==
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=7 }

- 4000 p—=
] =
o =
Q 3500 =+ - -
< =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r- -
=
o
=
APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... Es.d el el R

10

10°

10

10

10




run_13096004 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Thu Apr 501:54:15 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13096004 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Thu Apr 501:54:49 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=6 }

RMS (ADC-ped)

220

200 f=

180 P=

160 =

140
120
100
80
60

40 E

20
0

RMS (ADC-ped)

140

120

100

80 [+

60

40

20

i
120

AT AT

APV channel

[CADC RMS for RDO=1,ARM=2,APV=8__}

RMS (ADC-ped)

160

140

120

100

80

60

40

20

0

° ||||||T[T£JLH::Hj:':I:I:1|1I1]111]

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

RMS (ADC-ped)

140 |

120

100 P

80 |

60

a0 k

=

0

120
APV channel




run_13096004 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Thu Apr 501:52:24 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13096004 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Thu Apr 501:54:16 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13096004 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Thu Apr 501:54:50 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13096004 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB

Thu Apr 501:52:26 2012

[ ADC for FGT RDO=1,ARM=2,APV=17

1000 2000 3000 4000

[[_ADC for FGT RDO=1 ARM=2,APV=18

raw ADC

0 1000 2000 3000 4000

ADC for FGT RDO=1,ARM=2,APV=19
—

raw ADC

1000 2000

[ ADC for FGT RDO=1,ARM=2,APV=20

raw ADC

0 1000 2000 3000 4000

ADC for FGT RDO=1,ARM=2,APV=21

3

raw ADC

ADCAPeg

i
0 1000 2000

i
3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=2,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=.

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=19 }

4000

" 1
100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

L0 LN L A A L LA K L il

[[ADC for FGT RDO=1,ARM=2,APV=20 }

4000

80

APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AT TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=21 }

40

80

100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
ke
=
=
1500 [
=
rm:
I
=
o
=
=
0

APV channel

m..d E,.d eyl LA Sl

10

10°

10°

10

107




run_13096004 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Thu Apr 501:54:16 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Thu Apr 501:54:50 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Thu Apr 501:52:30 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Thu Apr 501:54:51 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13096004 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Thu Apr 501:52:32 2012
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run_13096004 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Thu Apr 501:54:18 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Thu Apr 501:54:51 2012
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run_13096004 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Thu Apr 501:52:36 2012
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run_13096004 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Thu Apr 501:54:19 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Thu Apr 501:54:52 2012
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run_13096004 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Thu Apr 501:52:40 2012
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run_13096004 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Thu Apr 5 01:54:20 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Thu Apr 5 01:54:54 2012
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Thu Apr 501:52:42 2012

run_13096004 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13096004 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Thu Apr 5 01:54:20 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Thu Apr 5 01:54:54 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
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run_13096004 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Thu Apr 501:54:21 2012
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run_13096004 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB
Thu Apr 501:52:52 2012
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run_13096004 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Thu Apr 501:54:22 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Thu Apr 501:54:56 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Thu Apr 501:52:56 2012
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run_13096004 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Thu Apr 501:54:24 2012
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run_13096004 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC

Thu Apr 5 01:54:57 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Thu Apr 501:53:01 2012
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run_13096004 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13096004 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Thu Apr 501:54:58 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
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run_13096004 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Thu Apr 501:54:26 2012
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run_13096004 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Thu Apr 501:54:59 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Thu Apr 501:53:09 2012
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run_13096004 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Thu Apr 501:54:27 2012
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run_13096004 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Thu Apr 501:55:01 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC
Thu Apr 501:53:13 2012
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run_13096004 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Thu Apr 5 01:55:02 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC

Thu Apr 501:53:15 2012
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run_13096004 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2BC
Thu Apr 5 01:54:29 2012
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run_13096004 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Thu Apr 5 01:55:02 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD

Thu Apr 501:53:19 2012
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run_13096004 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
Thu Apr 501:54:30 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Thu Apr 5 01:55:03 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Thu Apr 501:53:24 2012
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run_13096004 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD

Thu Apr 501:54:31 2012
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run_13096004 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Thu Apr 501:55:04 2012
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run_13096004 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC

Thu Apr 5 01:53:25 2012
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run_13096004 FGT_RMS 1,Timebin=2,Disc=3,asmb=3CD
Thu Apr 5 01:55:05 2012
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run_13096004 FGT_RMS 1,Timebin=2,Disc=3,asmb=3CD
Thu Apr 5 01:55:06 2012
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run_13096004 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
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run_13096004 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
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run_13096004 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC
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run_13096004 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
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